13:11:31 (Seriak COM3) SGPGGA,000018.030,,,,,0,00,,,M,0.0,M,,0000%5C < 0x0D > < DA >
13:11:31 (Seriak COM3) SGPGSA AT, ..vmmerseree” VE< 000> < DhelA>

13:11:31 (Seriak COM3) SGPRMC,000018.030,V.,,,.,.,080810,,, N*46< 00D > < (sl A>
13:11:32 (Seriak COM3) SGPGGA,000019.028,,,,,0,00,,,M,0.0,M,, 0000754 < Os0D > = (bl A=
13:11:32 (Seriak COM3) SGPGSAA T, .oeversseese 1E= 00D < DDA >

13:11:32 (Seriak COM3) SGPRMC,000019.028,V.,.,.,,080810,,, N*4E< (50D > < (oD A>

Filtrer

Legende

Reprendre

| - Message accepte



